THE LIMIT OF A RATIO OF CONVOLUTIONS1

By P. E. Ney

Cornell University

1. Summary and Introduction. Let $\{X_i\}$, $i = 1, 2, \cdots$ be a sequence of nonnegative, independent, identically distributed random variables, and let $F_n(x) = P\{X_1 + \cdots + X_n < x\}$. The purpose of this note is to investigate

$$\lim_{n\to\infty} \left[F_n(a_1) / F_n(a_2) \right],$$

where $0 < a_1 < a_2 < \infty$. In order to do so, estimates are required of the extreme lower tail of the distribution $F_n(x)$, for large n. There are a number of known results on the probability in the tail of a convolution (see [1], [2], [3], [4]), but none are appropriate for the present problem. Let X denote a typical X_i .

In the case when $P\{0 < X < x_0\} = 0$ for some $x_0 > 0$, the required limit is trivial to evaluate. This result is stated in Theorem 1. In the contrary case it is shown in Theorem 3 that a sufficient condition for $[F_n(a_1)/F_n(a_2)] \to 0$ is that there exist real $\gamma \ge 0$ and k > 0 such that

(1)
$$0 < \lim_{x \to 0+} x^{-\gamma} P\{0 < X < x\} = k < \infty.$$

This result is achieved by means of an estimate of $F_n(x)$ which is given in Theorem 2.

The Condition (1) is satisfied by a wide class of random variables including those with density functions f(x) such that for some

$$\alpha \geq 0$$
, $0 < \lim_{x \to 0+} x^{-\alpha} f(x) = k < \infty$.

It is easy to verify that most "textbook" densities satisfy this condition, as do all densities with a positive right-continuous kth derivative ($0 \le k < \infty$) at zero.

Although (1) is not necessary for $[F_n(a_1)/F_n(a_2)] \to 0$ (a class of examples will be given later to illustrate this point), one would expect that some regularity condition near the origin would be required. In attempting to weaken the sufficient Condition (1), one might conjecture that conditions such as the existence of a bounded density f(x), such that 0 < f(x) on an open interval $(0, \epsilon)$, $0 < \epsilon$, is sufficient for $[F_n(a_1)/F_n(a_2)] \to 0$. This conjecture is at the present neither proved, nor disproved by a counterexample.

2. Results. First, for the sake of completeness, consider the simple case when

(2)
$$P\{0 < X < x_0\} = 0$$
 for some $x_0 > 0$.

Received July 2, 1962.

¹ Research sponsored by the Office of Naval Research under contract number Nonr-401(43).

457

458 P. E. NEY

Let $P\{X=0\}=p_0$. If $p_0=0$ then $F_n(x)=0$ for $n>x/x_0$, and the problem degenerates. Define the conditional distribution

$$F_n^*(x) = P\{X_1 + \cdots + X_n < x \mid X_1 > 0, \cdots, X_n > 0\},$$

and let $m_i = \max\{k: F_k^*(a_i) > 0\}, i = 1, 2.$

THEOREM 1.

- (i) If X satisfies (2), $p_0 > 0$, and $m_1 = m_2 = m$, then $\lim_{n\to\infty} F_n(a_1)/F_n(a_2) = F_m^*(a_1)/F_m^*(a_2)$.
 - (ii) If X satisfies (2), $p_0 > 0$, and $m_1 < m_2$, then $\lim_{n\to\infty} F_n(a_1)/F_n(a_2) = 0$. Proof. $\lim_{n\to\infty} F_n(a_1)/F_n(a_2)$

$$= \lim_{n\to\infty} \frac{\sum_{k=0}^{m_1} \binom{n}{k} (1-p_0)^k p_0^{n-k} F_k^*(a_1)}{\sum_{k=0}^{m_2} \binom{n}{k} (1-p_0)^k p_0^{n-k} F_k^*(a_2)} = \lim_{n\to\infty} \frac{\binom{n}{m_1} (1-p_0)^{m_1} p_0^{-m_1} F_{m_1}^*(a)}{\binom{n}{m_2} (1-p_0)^{m_2} p_0^{-m_2} F_{m_2}^*(a)},$$

which is $F_m^*(a_1)/F_m^*(a_2)$ if $m_1 = m_2 = m$, and 0 if $m_1 < m_2$.

Remark 1. Theorem 1 disposes of the limit problem for discrete distributions on the integers.

REMARK 2. Part (i) of Theorem 1 shows that one can construct examples for which $[F_n(a_1)/F_n(a_2)]$ approaches any specified number ≤ 1 .

Theorem 2. If for some $\gamma \geq 0$

$$(1^*) 0 < \lim_{x \to 0+} x^{-\gamma} P\{0 \le X < x\} = k < \infty$$

then

(3)
$$\lim_{n\to\infty} \left[\Gamma(n\gamma+1) F_n(y) \right]^{1/n} = k \Gamma(\gamma+1) y^{\gamma},$$

where $\Gamma(\cdot)$ denotes the gamma function.

PROOF. Choose and fix any y > 0. Define $G(x; b) = bx^{\gamma}$, b > 0, $G_0(x; b) = 1$, $G_n(x; b) = \int_0^x G_{n-1}(x - t; b) dG(t; b)$, $n = 1, 2, \dots$. Choose d so that 0 < d < y, $bd^{\gamma} \le 1$, and define $G^{-}(x; b, d) = bd^{\gamma}$ when $d \le x < y$, $G^{-}(x; b, d) = G(x; b)$ otherwise, $G_0^{-}(x; b, d) = 1$,

$$G_n^-(x;b,d) = \int_0^x G_{n-1}^-(x-t;b,d) dG^-(t;b;d)n = 1, 2, \cdots$$

Let $V_n(A)$ denote the measure of an *n*-dimensional set A with respect to the *n*-dimensional product measure induced by G. For any x > 0, let $H_n^{(k)}(x)$ denote the half space $\{(x_1, \dots, x_n) : x_k \ge x\}$, $C_n(x)$ denote the cube

$$\{(x_1, \dots, x_n): 0 \leq x_i \leq x, i = 1, \dots, n\},\$$

 $S_n(x)$ denote the simplex

$$\{(x_1, \dots, x_n): x_1 + \dots + x_n < x, 0 \leq x_i, i = 1, \dots, n\}$$

Then $S_n(y) \subset [C_n(d) \cup H_n^{(1)}(d) \cup \cdots \cup H_n^{(n)}(d)]$, and hence

$$S_n(y) = [S_n(y) \cap C_n(d)] \cup [S_n(y) \cap H_n^{(1)}(d)] \cup \cdots \cup [S_n(y) \cap H_n^{(n)}(d)].$$

Thus

$$V_n\{S_n(y)\}$$

$$\leq V_n\{S_n(y) \cap C_n(d)\} + V_n\{S_n(y) \cap H_n^{(1)}(d)\} + \cdots + V_n\{S_n(y) \cap H_n^{(n)}(d)\}$$

$$= V_n\{S_n(y) \cap C_n(d)\} + nV_n\{S_n(y) \cap H_n^{(1)}(d)\}.$$

But
$$V_n\{S_n(y)\} = G_n(y; b), V_n\{S_n(y) \cap C_n(d)\} = G_n^-(y; b, d),$$

$$V_n\{S_n(y)\cap H_n^{(1)}(d)\} = \int_d^y dG(z;b) \int_0^{y-z} dG_{n-1}(v,b),$$

and therefore

$$G_n^-(y;b,d) \ge G_n(y;b) - n \int_d^y dG(z;b) \int_0^{y-z} dG_{n-1}(v,b).$$

Computation of the right side of this inequality yields

$$(4) G_n^-(y;b,d) \ge \frac{b^n \Gamma^n(\gamma+1)}{\Gamma(n\gamma+1)} y^{n\gamma} - \frac{\gamma b^n \Gamma^{n-1}(\gamma+1) y^{\gamma-1}}{\Gamma(n\gamma-\gamma+2)} (y-d)^{n\gamma-\gamma+1}.$$

Next define $G^+(x; b, d) = bx^{\gamma}$ when $0 \le x < d$, $G^+(x; b, d) = 1$ when $d \le x$, $G^+_0(x; b, d) = 1$, $G^+_n(x; b, d) = \int_0^x G^+_{n-1}(x - t; b, d) dG^+(t; b, d)$, and let $\beta = 1 - bd^{\gamma}$, $m_0 = \max\{n: n \le y/d\}$. Then

$$G_{n}^{+}(y;b,d) = \sum_{k=0}^{m_{0}} \binom{n}{k} \beta^{k} (1-\beta)^{n-k} G_{n-k}^{+}(y;d^{-\gamma},d)$$

$$\leq \sum_{k=0}^{m_{0}} \binom{n}{k} \beta^{k} (1-\beta)^{n-k} G_{n-k}(y;d^{-\gamma})$$

$$= \sum_{k=0}^{m_{0}} \binom{n}{k} \beta^{k} (1-\beta)^{n-k} \frac{(d^{-\gamma})^{n-k} \Gamma^{n-k} (\gamma+1)}{\Gamma[(n-k)\gamma+1]} y^{(n-k)\gamma}$$

$$\leq \binom{n}{m_{0}} n^{c} \frac{b^{n} \Gamma^{n} (\gamma+1)}{\Gamma(n\gamma+1)} y^{n\gamma}, \quad \text{for } n > 2m_{0},$$

where C is a constant depending on (b, γ, d, m_0) , but not on n.

Now by the hypothesis of the theorem, given any $\epsilon > 0$, there is a $\delta > 0$ such that for $0 < x < \delta$ one has $(1 - \epsilon)kx^{\gamma} < F(x) < (1 + \epsilon)kx^{\gamma}$. Hence by definition of G_n^- and G_n^+ , it follows that given any $\epsilon > 0$, there is a $\delta > 0$ such that for any y > 0 $G_n^-[y; (1 - \epsilon)k, \delta] \leq F_n(y) \leq G_n^+[y; (1 + \epsilon)k, \delta]$. Thus letting

$$B_{n} = \left\{ \frac{\gamma k^{n} \Gamma^{n-1} (\gamma + 1) y^{\gamma - 1}}{\Gamma(n\gamma - \gamma + 2)} (y - \delta)^{n\gamma - \gamma + 1} \right\} / \left\{ \frac{k^{n} \Gamma^{n} (\gamma + 1) y^{n\gamma}}{\Gamma(n\gamma + 1)} \right\}, \qquad C_{n} = n^{c} \binom{n}{m_{0}},$$

460 P. E. NEY

and applying (4) and (5), one obtains

(6)
$$(1 - \epsilon)^n (1 - B_n) \leq \frac{\Gamma(n\gamma + 1) F_n(y)}{[k\Gamma(\gamma + 1) y^{\gamma}]^n} \leq (1 + \epsilon)^n C_n.$$

Since $B_n \to 0$ and $C_n^{1/n} \to 1$, the theorem follows from (6).

Theorem 3. If (1) is satisfied then $\lim_{n\to\infty} [F_n(a_1)/F_n(a_2)] = 0$. Proof.

(i) If $p_0 = 0$ then (1) implies (1*), and hence by Theorem 2 $[F_n(a_1)/F_n(a_2)]^{1/n} \to (a_1/a_2)^{\gamma} < 1.$

This implies the desired result.

(ii) If $p_0 > 0$, then letting $b(j; n, p) = \binom{n}{j} p^k (1 - p)^{n-j}$, one has for any $0 < n_0 < n$,

$$\begin{split} \frac{F_n(a_1)}{F_n(a_2)} &= \frac{\sum\limits_{j=0}^n b(j;n,1-p_0)F_j^*(a_1)}{\sum\limits_{j=0}^n b(j;n,1-p_0)F_j^*(a_2)} \\ & \leq \frac{\sum\limits_{j=0}^{n_0} \frac{b(j;n,1-p_0)}{b(n_0;n,1-p_0)}F_j^*(a_1)}{\sum\limits_{j=0}^n \frac{b(j;n,1-p_0)}{b(n_0;n,1-p_0)}F_j^*(a_2)} + \frac{\sum\limits_{j=n_0+1}^n b(j;n,1-p_0)F_j^*(a_1)}{\sum\limits_{j=n_0+1}^n b(j;n,1-p_0)F_j^*(a_2)}. \end{split}$$

Letting $n \to \infty$, the first term on the right side of the inequality converges to $F_{n_0}^*(a_1)/F_{n_0}^*(a_2)$. Then letting $n_0 \to \infty$ the entire right side goes to zero by part (i) of the theorem. This proves the theorem.

REMARK 3. Condition (1) is not a necessary condition, as can be seen from the random variable X with distribution F, and density $f(\cdot)$ satisfying $f(x) = \exp(-x^{-1})$, $0 < x < \epsilon$, for some $\epsilon > 0$. Approximate f by functions $g_m(x)$ which in a neighborhood of the origin behave like

$$[1 + 1/x + \cdots + 1/m!x^m]^{-1}$$

Let $G_{m,n}(x)$ be the associated *n*-fold convolution of the cumulative distribution associated with $g_m(\cdot)$. Then by Theorem 2, $[G_{m,n}(a_1)/G_{m,n}(a_2)] \to 0$ as $n \to \infty$. One can then show that the convergence is uniform in m, and hence conclude that $[F_n(a_1)/F_n(a_2)] \to 0$. The same result holds if for some $0 < x < \epsilon, f(x) = \exp(-x^{-\gamma})$ for any $\gamma \ge 0$.

Note added in proof. The author would like to remark that R. Farrell has independently obtained a result very similar to Theorem 2.

REFERENCES

 BLACKWELL, D. and HODGES, J. L., Jr. (1959). The probability in the extreme tail of a convolution. Ann. Math. Statist. 30 1113-1120.

- [2] Chernoff, H. (1952). A measure of asymptotic efficiency for tests of a hypothesis based on the sum of observations. Ann. Math. Statist. 23 493-507.
- [3] Cramér, H. (1938). Sur un noveau théorème—limite de la théorie des probabilités. Actualités Sci. Ind. No. 736.
- [4] FELLER, W. (1943). Generalization of a probability limit theorem of Cramér. Trans. Amer. Math. Soc. 54 361-372.